o
[N

<0 > (rad)
o
o [
[ [¢)]

..............................

-2 -1 0 1 2 3
TP n (PCA to beamline)

< o cot(y) >

-1 0 1 2 3
TP n (PCA to beamline)

—=— DQM_CKF_QCDHighPt_base

—— DQM_CKF_QCDHighPt_retrainOldFiles125_v2_prelimWPM_epochl

100

< 00, > (M)

.....................

RatioI
P
al

-2 -1 0 1 2 3
TP n (PCA to beamline)

<0 / > (Y

PP, > (Y0)

O = N W N O
f

2 -1 0 1 2 3
TP n (PCA to beamline)

—~

100

(@)
TIT T T T[T [TI [ PP T[T T[T [T T [ TTr Tt

&
£ O
=T

o
&
+
> 4

-2

-1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


